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Thanksgiving Addition

Solve the following word problems.

During Thanksgiving dinner, there were 257 slices
of turkey and 143 slices of ham. How many slices
of meat were there in total?

There were 312 guests at the first Thanksgiving
dinner and 485 guests at the second Thanksgiving
dinner. How many guests were there in total?

A family baked 198 cookies for Thanksgiving
dinner party. They baked an additional 175
cookies. How many cookies did they bake in total?

A farm has 174 pumpkins and 312 corn stalks for
Thanksgiving. How many total items does the farm
have?

A charity served 127 meals on Thanksgiving Day.
The next day, they served an additional 195 meals.
How many meals did they serve in total?

A bakery made 450 pumpkin pies and 237 apple
pies for Thanksgiving. How many pies did the
bakery make in total?

For Thanksgiving, a store sold 319 pounds of
turkey and 186 pounds of ham. How many pounds
of meat did the store sell in total?

A family traveled 429 miles to visit relatives for
Thanksgiving and 162 miles to return home. How
many miles did they travel in total?
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